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1 nYHNVY

: ININ MIXPNSN NN HIAND

void changelLettersBetweenDigits(char str[])

1252 NYMNY MO0 NODDY NTIND NOAPN INPNON
1297 ,7INT M0 P2 NINKNIN NPNIND I : NAN J9INI NHINDN NN JITYN MDXPNN
NN NHINNI I PPN FIRY MIDN .1INTHI NPMIND
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:NPNY ITYNN NN
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,MDITHD 1091 1 MND0N NV PAY NPMINIY NN IWIN .2 -1 7,2 ,2,1,1 0 NPT MI90N
MOYTIZ 199N RY ININKN 2 NID A0 NPNIND .NINIAN 2 MIODN YNV PAY NPMIND D) 19)
TIIASY 1D NNINRN 2 -1 NIAD PaV 7 NH90N DO

ot
: N2 DVHINNHN NN

aaalaBcljh2YTt2we2aAa2
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15 7y 2 oy



2018 - NYWN P TN 90729

2 NINVY

: ININ MIXPNSN DX HIAND

int findLongestSequence(int mat[][COLS], int, int* row, int* col)

NINY ,rows NX,(W2ap XN COLS » nn) mTiny COLS noya nxd»Mvn nHapn mspNan
NN PIND TPSPNON .IXPNONNM NITIY DNAY int -H DIOYIANN MW ,NNIVNI MNVN 190N

NN col -) row ©11V1PY92 PTYM ,NYIIVHI DXAPIY DMADN W ANV THIIND 98N TN

890 DPNNN 1Y OIPIIN

A5V DIV YTIN-TN TIVNHD NXIVNN NN PAYNY IN ONMNND ,PNND PN : NN

ot

: NYAPNNN NN NNIVN PO

4 2 3 4 5
6 1 2 8 9
18 1 12 13 14

Seq len is 5 and it starts at [@][1]

.5 772 N, 1 ATy ,0 NV D NNNY 2,3,4,5,6 9871 : 1200
NYNIN N NN PINNY W TIND ININD TN 98I0 NP 0OP) 170N : NWN
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3 NNV

NTOM DY NNY MINNNN BirthdayParty -1 Cake mipbnnn »pHon 19182 NN 1N NONRVA
NRNNA NTOIN O NON)

class Cake

{

private:
char* flavour;
int numOfCandles;

public:
Cake(int numOfCandles, const char* flavour)

{
}

setFlavour(flavour);

void setNumOfCandles(int numOfCandles)

{
this->numOfCandles = numOfCandles;
}
void show() const
{

n n n

cout << "The << flavour << cake has " << numOfCandles <<

candles" << endl;

}
1

class BirthdayParty

{

private:
int age;
int numOfCakes;
Cake* allCakes;

public:

void show() const

{

cout << "Party is for a
following cakes: " << endl;
for (int i = @0; i < numOfCakes; i++)
allCakes[i].show();

<< age << years old and has the

}

Cake& getCake(int i)

¢ return allCakes[i];
}

~BirthdayParty()

{ delete[]JallCakes;

}

}s
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2PN MPYNNH DOVPMAIN NN main Yo
void main()

{
Cake myCake;

myCake.show();
BirthdayParty myParty(10, 3);

myParty.getCake(0).setFlavour("cheese");
myParty.getCake(2).setFlavour("cream");

Cake c(myParty.getCake(0));
c.setNumOfCandles(5);

myParty.show();
c.show();

: PIDINN NN VO YND

The chocolate cake has 3 candles

Party is for a 10 years old and has the following cakes:
The cheese cake has 11 candles

The chocolate cake has 11 candles

The cream cake has 11 candles

The cheese cake has 5 candles

(NPSNN Y92 MIDNN MTINHBN DX P 12N) MPYNKRN NN NIPNAN NIANNI IDHWN

AXINY VOO NN TN D7)N Main -2 1991 ,7PNNIN NIPNAN MNOY MMNNY T
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DPIOINN VLY P NN 2INDY DHY .Main -y MPHNN NV D¥IN TP YOP PNY

#pragma warning(disable: 4996)

#include <iostream>
#include <stdlib.h>
#include <string.h>
using namespace std;

class A
{

int x;

char* s;

public:

A(int x, const char* s = ""): x(x) {
this->s = new char[strlen(s) + 1];
strcpy(this->s, s);

}

A(const char* s, int x = 3): x(x) {
this->s = new char[strlen(s) + 1];
strcpy(this->s, s);

int getX() const { return x; }

const char* getStr() const { return s; }

void foo() const { cout << "In A::foo x=" << x << endl; }
virtual void goo() const { cout << "In A::goo s=" << s << endl;

~A() { cout << "In A::~d'tor\n"; }
}s5

class B: public A
{
A a;
int y;
public:
B(const A& al, const A& a2, const char* s = "default"):
a(al.getX()), A(a2.getX(), a2.getstr()) {}
void foo() const { cout << "In B::foo y=" << y << endl; }
virtual void goo() const { cout << "In B::goo\n"; }

virtual ~B() { cout << "In B::~d'tor\n"; }
}s5
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void main()

{
A al(1e);
A a2(5, "bla-bla");
cout << Memmmmmmmoooo- \n";
A* b2 = new B(al, a2);
cout << "emmmmm o \n";
A* bl = new 8(8) 9, "kUkU");
cout << Me-mmmmmooooo- \n";
al.foo();
a2.goo();
cout << "emmmmm e o \n";
bl->foo();
b2->g00() ;
cout << M--mmmmmooooo- \n";
}
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(M1 60) VHDL —’a 9Yn
NP3 20 — NHNY H95) 10-5 MUNWN Pan vIivY by Ny

5 NINVY

: TINAN NN YT-DY ININVNY NININD DX INNNTD OWIN P70 LVID .X ('P) 10)

library ieee;
use ieee.std_logic_1164.all;
entity tar5s is port
(a, b, c:in std_logic;
clk, rst : in std_logic;

inpl, inp2, inp3 : in std_logic;

g, gnot: buffer std_logic;
Y, Z, U : out std_logic) ;

end ;

architecture test5 of tar5s is
begin
process(rst, clk)
begin
if rst="1"then
y<='0"; z<="7';
elsif falling_edge(clk) then
y<=inpl; z<=inp2;
if a="'0"'then
y<=inp2;
else
z<=inp3;
end if ;
end if ;
end process ;

process(a, b, c)
begin
if a=b then
g<='0";gnot <="1';
elsif c'event and c ="'1' then
g<=aorb;
gnot <= not q ;
end if ;
end process ;
u<=awhenqg="1'elseb;
end;

:0IVN

,gated Latch ,07%5)07 ,009M2 ,00y¥ DN WININI TNV DX TNIYY DI

9131 ©Y2>571 Y92 WHnWNY TNY PN .DX0IN PAD SNNN ON 0>, Tri-State 12999
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(rst NN ,0>-clk 8 Twna Outl, Out2 MMNN) DNINT NNVNIT MY .2 (') 10)
: INAN NNOIND YT-DY ININNN DIvNN YW NDIVAN MY

Library ieee;
Use ieee.std_logic_1164.all;

Entity testn is

Port (clk, rst: in std_logic;
Outl, Out2: buffer std_logic);
End testn;

ARCHITECTURE TEST OF TESTn IS
Signal countl: integer range 0 to 7;
Begin
Process (clk, rst)
Variable count2: integer range O to 7;
Begin
If rst ="1"then
Outl<="1"
Out2 <="0"
elsif (clk'event and clk="1") then
Countl <= countl+1;
Count2 := count2 +1;
If (countl = 3)then
Outl <=not Outl,
Countl <=0;
End if;
If (count2 = 6)then
Out2 <=not Out2;
Count2:=0;
End if;
End if;
End process;
End test;
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6 NHNVY

: INAD NN ININND NIIND DN S (RTL) 70D 11050 9N X (') 10)

library ieee;
use ieee.std_logic_1164.all;
entity test618 is
port (clk, reset, ce, din: in std_logic;
vec: out std_logic_vector(5 downto 0));
end;
architecture behaviorl of test618 is
signal X: std_logic_vector(5 downto 0);
begin
reg: process(reset, clk, ce)
begin
if reset="1"'then
X <= (others =>'1");
elsif ce = '1' then
if rising_edge(clk) then
X(5 downto 1) <= x(4 downto 0);
X(0) <= Din xor X(5);
X(2) <= X(1) xor X(0);
X(5) <= X(4) xor X(0);
end if;
end if;
end process;
vec <= X;

end;

:0IVN

,gated Latch ,0%9)57 ,072,05yv DN w101 TNV DY TOYY DY

931 ©Y25591 992 WHNWNY TNN PR .DMIN POD 'NNH O 01N, Tri-State »1v59
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1IDINN Davn v (RTL) monon nnoon nx a»x .architecture -1 »»w vww nin .a (/P 10)

2N YAV NN Yy NIxpa 12om architecture behavior2 »1 Sy axnnn

architecture behavior2 of test618 is
signal X: std_logic_vector(5 downto 0);
begin
reg: process(reset, clk, ce)
begin
if reset="1"'then
X <= (others =>'1");
elsif ce = '1' then
if rising_edge(clk) then
X(0) <= Din xor X(5);
X(2) <= X(1) xor X(0);
X(5) <= X(4) xor X(0);
X(5 downto 1) <= x(4 downto 0);
end if;
end if;
end process;
vec <= X;

end
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7 YNV

2111007 N0 YAIN SV 8T NN NN NNONY VHDL Nnowa 1°51m N5 X (') 10)
.12 n»nnn NYTON)

.y X clk reset ,x Moo nowny -
207 2892 NN Y XX DD ,NOIWNN DIONL - -

X N12D2 NYAPNNY NDON NX NYY MDY 551 NPTIA NOIWNN ,DIONRD NN -

(NN PR DY 48NN P 'L D0 -0 7o XN -

reset rlr ﬁOﬁ rOr IOI IOI IOI ror rOr rOr rOr 707 rOr
ck -\

X 1-1 0’ ’]/ ’]/ 4 4 0’ 11 ’]’ ’]’ 4 07
y 0 0’ 0 0 0 ’]/ 0’ 0’ 0’ 0’ 0 1]’

P2 HTANN NN ORI TOV TP PON NHXA 9200 .Moore W Mealy ,nN25nN 10 1NN 9200
295N MNONN IND NY

301N NN NIIWNN NWS DX NINNNN (7MYI27) DXAXND NHINT LVIY .2 (/PI 5)
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8 NINVY

MNN DX NOYW XN NPran) inputl, input2 yaww mMooNNm NN NI NN .NX (P 7)

297 NTWYY (MNIN1D NIAYD NN NPRY) NIIWNN NNOND TP YOP 2IND .output
: TINAT O NHDNMNT

inputl | [ 1 [ | | [ | >
input2 | |—| |_| [ | | >
output | i_i II i II II >

TONY NYTIN NIVY TONN 2IND .2 (P 7)

"Pulse 1_0_1 detected on signal input1"

T NYNIA 920V NN DY y8an (std_logic non MN) inputl N©on MNY Oy 502
T INNKD N NMDY INNRD) 57N MPYANN PON P YNINND DX NONW 93 NYTIN DIPNN N
(1252

NNO N NNNX KD TP : NIYD

MNPDY TYPN IWRY TIPN YOP NN INAN NNOPYIIIND L) (') 6)
MYAPNNY MNIND YW DINT NNDNOT PN

architecture test of test is
signal inp1, inp2 : std_logic ;
begin
process
begin
inpl<="'0"; inp2<="0"; waitfor 25 ns;
inpl<="1"; wait for 25 ns;
inp2 <='1"; wait for 25 ns ;
end process ;

end;
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10 NYNVY

JK 0109557 5w weond MYJKFF owa 1051 2105 X (123 6)
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Int findLongestSequence(int mat[][COLS], int rows , int* row , int* col)
4 NONY

#pragma......... nOVIAN  TIPN YOPN NIYNRI NNV

- 4 NONRY TYNN- 7 Tya 8§ NNV

A*bl=new B (al, a2, "KUKU") : nynd s
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